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Instrumentation:

Solo Eb Clarinet
Flute

Oboe

Clarinet in Bb
Bassoon

2 Horns in F

Trumpet in C
Tenor-Bass Trombone
Percussion (2 players)
Violin |

Violin 11

Viola

Violoncello

Double Bass

This score is transposed. Duation: approximately 12 minutes

Notation:

E Free bar - in this work, the measures occupied by

the Eb Clarinet cadenzi.

Repeat figure as fast as possible within the
duration of a half-note.
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Accelerando from approximately an 8th note
value to notes as fast as possible within the
duration of a whole note.
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